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正 誤 表

電験 3種過去問マスタ　理論の 15年間　2020年版

ページ 箇所 誤 正
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25 解 12
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212 問 37
⑴　 R1

R1 + R2
 R1

2
+ R2 ⑴　 R1

R1 + R2

R1

2
+ R2( )

⑵　 R1

R1 + R2
 R2

3
- R1 ⑵　 R1

R1 + R2

R2

3
- R1( )

版刷：第 1版第 1刷

1

Rbc = 140 -50 - 90 Rbc = 140 -50 = 90

EP = EA - EBC = Q
4pe0( 3a - x)2 - 2Qx

4pe0(a2 + x 2 )3/2

= Q
4pe0

1
( 3a - x)2 - 2x

(a2 + x 2 )3/2{ }[V/m]



ページ 箇所 誤 正

213 問 37
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244 問 1
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249 解 5
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277 問 23
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313 解 6
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325 解 11
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327 解 12
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353 解 4 r = R1(R2 + 10)
R1 + R2 + 10

=
10
3
× 20

3
+ 10 

10
3

+ 20
3

+ 10
=

500
9
20
= 25

9
[mW] r = R1(R2 + 10)

R1 + R2 + 10
=

10
3
× 20

3
+ 10( )

10
3

+ 20
3

+ 10
=

500
9
20
= 25

9
[mW]
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375 解 13
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520 R1

14  7 その他  6 電気計測

15  5 三相交流回路  1 静電気 

16  7 その他  5 三相交流回路

17  1 静電気  7 その他
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